
Master BC220

schemat

www.master.sklep.pl
 kontakt: www.master.sklep.pl/kontakt



MODEL BC 220
ILLUSTRATED SPARE PARTS

Rev.- - Nov. 2019

UNIT 1

ESP00546

From Serial Number :   

16
15

14

13

12

11

10

9

8

7

6
5
4

3
2

26 27 28 29 30 33

17 18 19 20 21 22 23 24 25

34

35

36 37 38 39 40 4341 42 44 45 46 47

32

31

48

5049

1



UNIT 2 PARTS LIST

Pos. Code N° Description

1 4141.104 DISPLAY BOARD

2 4141.007 PC-BOARD BC120-220-341 + DISPLAY WIRE

3 4141.008 CAPACITOR

4 4141.120 FRONT PLASTIC FRAME + FLAPS + SWING MOTOR

5 4141.121 UPPER PLASTIC CASE - BC220

6 4141.122 FRONT INOX NET - MESH 10X10 mm

7 4140.908 CABLE REEL

8 4140.910 WATER INLET CASE COMPLETE + BRACKETS

9 4140.911 STRAIN RELIEF M16X1,5

10 4140.912 POWER CORD SCHUKO H07RNF

11 4140.913 WATER LEVEL SENSOR BRACKET

12 4140.914 WATER LEVEL SENSOR

13 4140.915 PLASTIC TANK 120 l

14 4140.916 WHEEL + BRAKE

15 4140.917 WHEEL

16 4140.918 DRAIN PLUG COMPLETE

17 4140.919 WATER HOSE PLASTIC CLIP

18 4140.920 WATER HOSE

19 4141.123 FAN - YELLOW RAL1006 - 5 BLADES

20 4140.922 MOTOR 750 W

21 4141.124 WATER DISTRIBUTOR + CAP + 90° PLASTIC PLUG

22 4140.924 MOTOR BRACKET

23 4140.925 COOLING PAD

24 4141.125 REAR DUST NET - BC220

25 4141.126 UPPER PLASTIC BRACKET - BC220

26 4140.928 WATER PUMP

27 4140.929 INOX CLAMP

28 4140.930 WATER PUMP BRACKET

29 4140.931 WATER PUMP FILTER BAG

30 4141.127 METAL FLOAT VALVE WITH PLUG G 1/2

31 4141.128 PLASTIC LATERAL BRACKET FOR NET - BC220

32 4141.129 PLASTIC CENTRAL BRACKET FOR NET - BC220

33 4140.963 REMOTE CONTROL

34 4141.106 UV LAMP FOR BIOCOOLER

35 4141.107 POLYSTYRENE PACKAGING BASE

36 4141.108 STRAIN RELIEF PG21

37 4141.109 STRAIN RELIEF M24X1,5

38 4141.110 BLACK FLEXIBLE CABLE TIE 1 METER

39 4141.111 WIRE TEMPERATURE SONDE

40 4141.112 SCREW TE M8X35 INOX 

41 4141.113 WASHER M8 INOX

42 4141.114 SCREW TE M6X20 INOX

43 4141.115 NUT M6 FLANGED INOX

44 4141.116 SCREW SELF-TAPPING TCC 4,8X30 INOX BLACK

45 4141.117 SCREW SELF-TAPPING TCC 4,8X20 INOX BLACK

46 4141.118 SCREW SELF-TAPPING TCC 4,8X12 INOX BLACK

47 4141.119 SCREW SELF-TAPPING TCC 3,9X15 INOX BLACK

48 4141.130 UPPER POLYSTYRENE PACKAGING

49 4141.131 SCREW TE M6X30 INOX

50 4141.134 PC-BOARD SUPPORT

MODEL  BC 220



www.master.sklep.pl
 kontakt: www.master.sklep.pl/kontakt


